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1. Aufgabe
(@) pa =20V
(b) Ip=0,2A

qu = 60mA
YB = 6V
wc =9,6V
Urs =14V
(c) L=04A
Is =028 A

Prafung Grundlagen der Elektrotechnik 1

(d) Pp = 0,8W, Verbraucher

Q1: Erzeuger

Q3: Verbraucher

Q4: Erzeuger

jew. mit Begrundung!

2. Aufgabe
(a) C = 26,56 nF

(b) Q = 53,13nC
Dy = 3,54 uAs/m?
Dy = 17,7 pAs/m?

(C) Umax =5V
Winax = 3321nJ

(d) C sinkt, U,., sinkt (Begrindung!)

3. Aufgabe

(a) Ul,O =50V
U270 - 30V
Uso =30V

(b) Ujoo =55V
Usoo =0V
4. Aufgabe

(b) T =220mA
[y = 29842

(c) B=11T
Hr1 = 2431,5

(d) oben (Begrundung!)
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